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BOTANY
[GENERAL]
Paper : 11
Full Marks : 100

The figures in the right-hand margin indicate marks.

Time : 3 Hours

Candidates are required to give their answers in
their own words as far as practicable.

Answer all the questions.

GROUP-A
(Cytogenetics and Molecular Genetics)
[Marks : 35]
1.  Answer any three of the following: I1x3=3
@I Fouifb e Tes e ¢
a)  What are okazaki fragments?
ST AT 2
b)  What is translocation heterozygote?
GITTICR* (ZDICTeZesiic e

c¢) What is isochromosome?

SEEAGFIET F 2

[Turn over]

d) What is autopolyploidy?
RIGKIGEETE
2. Answer any five of the following: 2x5=10

@I 2156 aria Ted 11 ¢

a)

b)
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State two differences between DNA

polymerase and RNA polymerase.

DNA #fersliizs @ RNA #ifemsicas-«3 sy ufo
e T I

Distinguish between meiotic prophase I and

prophase I1.

RNEBEE @we-1 ¢ @iEFs-11 97 & 21
@

State two functions of endoplasmic reticulum.
qroigEtE sl wio S 3¢ 341

Write the law of independent assortment.
FI&W [ere™ @b @4

Distinguish between monoploidy and haploidy.

AR 8 Figzfea Sy Al @12

Distinguish between paracentric and

pericentric inversion.

ARACTLS ¢ PIRTIDSF TSR S #1124

=14
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g)  Why mitochondria is called semi-autonomous

organelle?
MRGIRFAGACE EISICGTI S5l @ 2 (e 2
Answer any two of the following: 6x2=12

@I 7B 3T Bed mi 2

a) Draw and describe different types of trisomic.

How it differs from tetrasomic?

fafen wataa GReNfEa Avg 3w we|
BRI AN @3 Ay e

b) Name the enzymes required for DNA

replication and mention their functions.

DNA GEREET dr@ie Sernasierd O @2
G2 TRWE I T 9|

c) What is dihybrid experiment? Explain the

experiment with garden pea.

forRsameER =T Fe orsameR A5
EERIPZERE NN

What is nucleotide? How it differs from a
nucleoside? Give a concept of double helix structure
of DNA. 24+2+6=10

FSebiRT F 7 MERPezres A0t @ A1 F1? DNA-
AR FTAd Ao TR LTl WS |
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OR

Discuss the process of transcription in prokaryotic
cell. 10

TR (ST GEEEe safel SEa w4
GROUP-B
(Plant Physiology and Biochemistry)
[Marks : 35]
Answer any three of the following: 1x3=3
@I FostfB e T mie ¢

a) Distinguish between transpiration and

gutlation.
AN € ACFCT N 2L (=14 |
b) Name a synthetic auxin.
G0 Preglbs SIS w1 @9 |
c) State when the RQ values become infinity.
F4q RQ-93 W wrefqe (AfFEMD) 2312
d)  Whatis RUBISCO?
RUBISCO 2

e) Give an example of symbiotic N, -fixing

organism.

A& TREIE RIFAFIE FGNET 90
TR e |
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Answer any two of the following: 2x2=4
@-CFIC g 2o bed vie ¢
a)  Define oxidative phosphorylation.
SfELTe FAGRARETER e (=72 |
b)  What are the significance of CAM plants?
CAM Tfems wiesd e
c¢) Define nitrification.

2T RFEEE ke @1

d) What is vernalization?

SRR I 061 2
Answer any three of the following: 6x3=18
@I fom eoam Ten wie ¢

a)  Give a brief account of nitrogen fixation by

the free living bacteria and blue green algae.

FIANEI AZEGICE FRIRARI TG €< el
G (<RI B ARG AT A AT
3l 9|

b)  Give a brief account of environmental control

on flowering.

Ao Aga AREER g Frd ey
G 41
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c) Discuss the role of IAA in plant growth and

development.

Tlema I 3 2ATEEE 1A A-97 Sl S5

4|

d) Discuss the role of the following elements in

the metabolism of plants:
1) Phosphorus (P) ;

i1) Sulphur (S) ;

ii1) Iron (Fe);

iv) Magnesium (Mg);
it Feiice e cTmefn ol Sl
RS

1) ™ (P)

ii) ARTER (S)

i) SRR (Fe)

iv)  SpleiERRS (Mg)

What do you mean by C, and C, plants? Discuss the

reactions involved in the Calvin cycle.  2+8=10

C, @k C, Bfgn welre & (@il (e b

o

el g mie |

OR

6(Sc)/1 (6]



Discuss Krebs cycle in higher plants. Why is it 10.

called TCA cycle? 8+2=10

THEAT Sfem (@IDEs SEvl 391 83l TCA
b 6T T (&2

GROUP-C

(Development and Reproduction in flowering plants)

[Marks : 30]

9.  Answer any four of the following: 2x4=8

@-CFI o1 & Ted e ¢

a)

b)

c)

d)

6(Sc)/1

What is double fertilization?
fafece I e

Define megasporogenesis.
GECAACERPIER kel 71 |
What is phelloderm?

I1.

TG F 2

What is tylosis?
GigeEnte e

What is self sterility?

o EOiRET (FewNg) Fe

Answer any two of the following: 6x2=12
@- (I 7B A TR 0e ¢

a) Describe contrivances for cross pollination.
6

BT SRR eferirefrm a9 vie |
b)  Describe different types of fleshy fruits with

example. 6

TuggerT [feq e w199 T I vie |

c) Describe with suitable diagram the structure

of ovule in higher plants. 6
Toe baT2 SR Sl ovule-gd sloe 90l
Rl

Define cell wall. Write composition and structure

of cell wall. 2+8=10

@R b kel e | @R bl TAmE € o1gw

AHF (=14 |

OR

What do you understand by secondary growth in

thickness? With sketches describe how intrastelar

secondary growth takes place in dicot stem.
2+8=10

(Mo FeT0e 6 @RI 2 Besial Sfem el oeeholm

CMeRfa & @l foapre 3ol 7|
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